		NEPTUNE		Y PVT	R LTD			
	NEPTUNE	CAMPUS, NEAR ATLANTIS HEIGHTS, DR.\ Ph.No. : 0265-2350630/3				ARAT, 390007		
					70 - 1			
wo	No	365						
	Date:	06/10/2023			E REALTY PVT. LTD.			
	itractor Name	Ghanchi Imranbhai Gulamhusei	n		OOD ASPIRE EXP			
		Chancin initializital Culannuse						
	lress:				Campus, Sarabhai Road	, Vadodara		
	itact No			WO Title	2			
PAN	1:							
GST	7:			GST No:	24AAACN9837D1ZI	Gujara	it	
We	have pleasure in p	placing with you our Work order for the	following cont	ract kindly ex	ecute the work			
as p	per the instruction	given by our site incharge.						
Sr.No		Item Description	Qty	Unit	Rate Rs.	Amount	GST %	%
1	TOWER B GROUI	ND FLOOR COMMON						
	ELECTRIC WORK							
	LABOR FOR LIG	HT FITTING WORK (NOS)	41.00	NOS	100.00	4100.00	0	%
2		ND FLOOR COMMON						
			44.00	NOC	400.00	7200.00	•	0/
			41.00	NOS	180.00	7380.00	0	%
3		AL WORK INTERNAL TALLATION WORK						
		OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
	WIRING WORK							
4	B 101 ELECTRIC	AL WORK INTERNAL						
	ELECTRICAL INS	TALLATION WORK						
	LABOR FOR VDI	P WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
5		AL WORK INTERNAL						
			1.00	NOS	2500.00	2500.00	0	0/
	WIRING WORK	OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
6		AL WORK INTERNAL						
	ELECTRICAL INS	TALLATION WORK						
	LABOR FOR AC	OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
	WIRING WORK							
7								
		TALLATION WORK P WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
8		AL WORK INTERNAL	1.00	1105	2000.00	2000.00		/0
0		AL WORK INTERNAL TALLATION WORK						
		OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
	WIRING WORK							
9	TOWER B 1ST FL	OOR COMMON ELECTRIC						
	WORK			100	100.55		-	
<u> </u>		HT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	%
Spc.		, BALCONY AND FOYER AREA						
	WIRING and FIX	ING.						

10	per the instruction given by our site incharge. TOWER B 1ST FLOOR COMMON ELECTRIC						
0	WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	
spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
14	FOYER AREA)						
1	TOWER B 1ST FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	
2	TOWER B 1ST FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	
3	B 201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
	WIRING WORK						
4	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
		1.00	1105	2000.00	2000.00		
pc.	Purpose of Work : AC Outdoor Work						
рс.	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK	1.00	NOS	2500.00	2500.00	0	
•	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
5	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK	1.00	NOS	2500.00	2500.00	0	
5 pc.	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work	1.00	NOS	2500.00	2500.00	0	
5	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL	1.00	NOS	2500.00	2500.00	0	
5 pc.	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
5 pc.	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL	1.00	NOS	2500.00	2500.00	0	
5 oc.	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER						
5 pc.	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK						
5 oc.	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK B 202 ELECTRICAL WORK INTERNAL						
5 pc. 6	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK	1.00	NOS	2500.00	2500.00	0	
5 pc. 6	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2500.00	2500.00	0	
5 oc. 6	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK B 202 ELECTRICAL WORK INTERNAL	1.00	NOS	2500.00	2500.00	0	
5 pc.	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK TOWER B 2ND FLOOR COMMON ELECTRIC	1.00	NOS	2500.00	2500.00	0	
5 pc. 6 7	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK TOWER B 2ND FLOOR COMMON ELECTRIC WORK	1.00 1.00 1.00	NOS NOS	2500.00 2000.00 1200.00	2500.00 2000.00 1200.00	0	
5 pc. 6 7	B 201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK Purpose of Work : AC Outdoor Work B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK B 202 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK TOWER B 2ND FLOOR COMMON ELECTRIC	1.00	NOS	2500.00	2500.00	0	

as p	per the instruction given by our site incharge.						
21	TOWER B 2ND FLOOR COMMON ELECTRIC						
	WORK	44.00	NOC	400.00	2000.00	•	
• • •	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
	FOYER AREA)						
22							
	WORK LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA	10.00	1105	100.00	1000.00		
,pc.	WIRING and FIXING.						
23	B 301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
24	WIRING WORK B 301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
25	B 301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
26	WIRING WORK B 302 ELECTRICAL WORK INTERNAL						
20	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
	WIRING WORK						
27	B 302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
28		1.00	1103	2000.00	2000.00	0	
20	B 302 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
	WIRING WORK						
29	TOWER B 3RD FLOOR COMMON ELECTRIC						
		16.00	NOS	100.00	1600.00	0	
inc	LABOR FOR LIGHT FITTING WORK (NOS)	10.00	1103	100.00	1800.00	0	
pc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
30	TOWER B 3RD FLOOR COMMON ELECTRIC						
	WORK		100		0000	-	
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	
spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA) 2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR FOYER AREA)						
31							

We	have pleasure in placing with you our Work order for th	e following cont	ract kindlv	vexecute the work			
	per the instruction given by our site incharge.	eene					
32	TOWER B 3RD FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	%
33	B 401 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK	1.00	NOS	1200.00	1200.00	0	%
34	B 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
35	B 401 ELECTRICAL WORK INTERNAL	1.00	1103	2000.00	2000.00	0	/0
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
36	WIRING WORK B 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK	1.00	NOS	2500.00	2500.00	0	%
37	B 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
20	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
38	B 402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
39	WIRING WORK TOWER B 4TH FLOOR COMMON ELECTRIC						
37	WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	%
40	TOWER B 4TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	%
41	TOWER B 4TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	%
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA) 2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
42	FOYER AREA) TOWER B 4TH FLOOR COMMON ELECTRIC						
12	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
43	B 501 ELECTRICAL WORK INTERNAL						
			NOC	4000.00	(000.00	-	~
	LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK	1.00	NOS	1200.00	1200.00	0	%
44	B 501 ELECTRICAL WORK INTERNAL						
		1 00	NOC	2000.00	2000 00	~	0/
45	LABOR FOR VDP WALL ZARI & WIRING WORK B 501 ELECTRICAL WORK INTERNAL	1.00	NOS	2000.00	2000.00	0	%
15	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
	WIRING WORK						

	have pleasure in placing with you our Work order for th per the instruction given by our site incharge.	e following cont	ract kindly	execute the work			
46	B 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
47							
47	B 502 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
48	B 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
10	WIRING WORK						
49	TOWER B 5TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
50	TOWER B 5TH FLOOR COMMON ELECTRIC						
50	WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	%
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
	FOYER AREA)						
51	TOWER B 5TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	%
52	TOWER B 5TH FLOOR COMMON ELECTRIC						
	WORK LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	%
53	B 601 ELECTRICAL WORK INTERNAL	0.00		100100	1000.00		70
55	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
	WIRING WORK						
54							
	ELECTRICAL INSTALLATION WORK LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
55	B 601 ELECTRICAL WORK INTERNAL	1.00	1105	2000.00	2000.00		70
55	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
	WIRING WORK						
56	B 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
	WIRING WORK	1.00	NOS	2300.00	2300.00	0	70
57	B 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
58	B 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
	WIRING WORK	1.00	1105	.200.00	1200.00	0	/0
59	TOWER B 6TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	%

	per the instruction given by our site incharge.						
60							
	WORK LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	ç
61	TOWER B 6TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA) 2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
	FOYER AREA)						
62	TOWER B 6TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
63							
03	B 701 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
54	B 701 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	
I	B 701 ELECTRICAL WORK INTERNAL						_
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	
66	B 701 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	
67	B 701 ELECTRICAL WORK INTERNAL						
					1000.00	-	
	LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK	1.00	NOS	1200.00	1200.00	0	
58	B 701 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
59	B 701 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
70	B 701 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
'1	WIRING WORK						
′1	B 702 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
	WIRING WORK					-	_
2	B 702 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	

	have pleasure in placing with you our Work order for th	e following cont	ract kindly	execute the work			
	per the instruction given by our site incharge.						
73	B 702 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	%
74	B 702 ELECTRICAL WORK INTERNAL			-			
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
	WIRING WORK						
75	B 702 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	%
76	B 702 ELECTRICAL WORK INTERNAL					-	70
70	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
77	B 702 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
78	B 702 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	%
Spc.		4.00	NOS	100.00	400.00	0	/0
spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
79	TOWER B 7TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
80	TOWER B 7TH FLOOR COMMON ELECTRIC						
	WORK LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	0/
81		6.00	NOS	180.00	1080.00	0	%
01	TOWER B 7TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	%
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR FOYER AREA)						
82	TOWER B 7TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	%
83	B 801 ELECTRICAL WORK INTERNAL						
		4.00	NOS	180.00	720.00	0	0/
84	LABOUR FOR LIGHT POINT (NOS) B 801 ELECTRICAL WORK INTERNAL	4.00	CON	100.00	720.00	0	%
0-1	ELECTRICAL WORK INTERNAL						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
85	B 801 ELECTRICAL WORK INTERNAL						
		1.00	NOS	100.00	100.00		

1.00

NOS

100.00

LABOR FOR ANCHOR FASTNERS (NOS)

0

%

100.00

	er the instruction given by our site incharge.						
86	B 801 ELECTRICAL WORK INTERNAL						
		4.00	NOC	400.00	400.00	•	
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	
87	B 801 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
	WIRING WORK	1.00	1105	1200.00	1200.00	0	
88	B 801 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
89	B 801 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
90	B 801 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
	WIRING WORK	1.00	NOS	2500.00	2300.00	0	
91	B 802 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	9
	WIRING WORK						
92	B 802 ELECTRICAL WORK INTERNAL						
		1.00	NOS	2000.00	2000.00	0	
02	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NUS	2000.00	2000.00	0	
93	B 802 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	ç
94	B 802 ELECTRICAL WORK INTERNAL					-	
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	Ģ
	WIRING WORK						
95	B 802 ELECTRICAL WORK INTERNAL						
		(00			(00.00		
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	2
96	B 802 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	9
97	B 802 ELECTRICAL WORK INTERNAL	1.00	1105	100.00	100.00	0	
97	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	ç
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
•	WIRING and FIXING.						
98	B 802 ELECTRICAL WORK INTERNAL						
70	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	ç
99	TOWER B 8TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	0
100	TOWER B 8TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	9

	have pleasure in placing with you our Work order for th per the instruction given by our site incharge.						
101	TOWER B 8TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
	FOYER AREA)						
102	TOWER B 8TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
4.02							
103	B 901 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4.00	NOS	100.00	400.00	0	
<u> </u>	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	CON	100.00	400.00	U	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
104							
104	B 901 ELECTRICAL WORK INTERNAL						
		1.00	NOS	100.00	100.00	0	
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NUS	100.00	100.00	0	
105	B 901 ELECTRICAL WORK INTERNAL						
		1.00	NOC	480.00	180.00	0	
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	
106	B 901 ELECTRICAL WORK INTERNAL						
		4.00	NOC	400.00	720.00	•	
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
107	B 901 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	(00				-	
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	
108	B 901 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
4.00	WIRING WORK						
109	B 901 ELECTRICAL WORK INTERNAL						
		4.00	NOC	2000.00	2000.00	•	
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
110	B 901 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
114							
111	B 902 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
	WIRING WORK	1.00	103	2300,00	2300.00	U	
112	B 902 ELECTRICAL WORK INTERNAL						
•••	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
113	B 902 ELECTRICAL WORK INTERNAL	1.00			2000.00		
115	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
	WIRING WORK	1.00	1.05	1200.00	1200.00	0	

	have pleasure in placing with you our Work order for t	he following cont	ract kindly	y execute the work			
as p	per the instruction given by our site incharge.						
114	B 902 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	%
115	B 902 ELECTRICAL WORK INTERNAL						
115							
		(00	Noc	100.00	70.0.00	•	0/
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	%
116	B 902 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
117	B 902 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
		1.00	1105	100.00	100.00	0	/0
118	B 902 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
119	TOWER B 9TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
ope.	WIRING and FIXING.						
120	TOWER B 9TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	%
Spc.							
spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
	FOYER AREA)						
121	TOWER B 9TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	%
122	TOWER B 9TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	%
		0.00	1105	100.00	1000.00	0	70
123	B 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
	WIRING WORK						
124	B 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
125	B 1001 ELECTRICAL WORK INTERNAL						
123							
		4 00	Noc	3500.00	2500.00	~	٥/
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
	WIRING WORK						
126	B 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	%
127	B 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	%
	· · · /						-

128	ber the instruction given by our site incharge. B 1001 ELECTRICAL WORK INTERNAL						
120	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	9
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
129	B 1001 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK	4.00	NOC	100.00	100.00		
420	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
130	B 1001 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
131	B 1002 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK					_	
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	%
132	B 1002 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	%
133	B 1002 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
134	WIRING WORK B 1002 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
135	B 1002 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
136	WIRING WORK TOWER B 10TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	%
137	TOWER B 10TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	%
138	TOWER B 10TH FLOOR COMMON ELECTRIC WORK LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	٥
Spc		10.00	1103	180.00	2880.00	0	%
spc.	 LABOR FOR LIGHT POINT WIRING 4 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR STAIR AREA) LABOR FOR LIGHT POINT WIRING 12 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR FOYER AREA) 						
139	TOWER B 10TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						

	have pleasure in placing with you our Work order for th per the instruction given by our site incharge.						
140	B 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
141	B 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	
142	B 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	
143	B 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	
144	B 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
145	B 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
	WIRING WORK						
146	B 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
147	B 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
	WIRING WORK						
148	B 1102 ELECTRICAL WORK INTERNAL						
		1.00	NOC	2500.00	2500.00	0	
	LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK	1.00	NOS	2500.00	2500.00	0	
149	B 1102 ELECTRICAL WORK INTERNAL						
177	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
150	B 1102 ELECTRICAL WORK INTERNAL					-	
150	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
	WIRING WORK						
151	B 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
152	B 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	
153	B 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	
154	B 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	

	have pleasure in placing with you our Work order for th per the instruction given by our site incharge.	e rollowing cont	ימכו אוחסוץ	execute the work			
155	B 1102 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
156	TOWER B 11TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
157	TOWER B 11TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	
Spc.	 LABOR FOR LIGHT POINT WIRING 4 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR STAIR AREA) LABOR FOR LIGHT POINT WIRING 12 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR FOYER AREA) 						
158	TOWER B 11TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	
159	TOWER B 11TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	9
160	B 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
161	WIRING WORK B 1201 ELECTRICAL WORK INTERNAL						
101	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
162	B 1201 ELECTRICAL WORK INTERNAL						
		4.00	NOC	2500.00	2500.00	•	
	LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK	1.00	NOS	2500.00	2500.00	0	
163	B 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	
164	B 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
165	B 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
166	B 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						

	have pleasure in placing with you our Work order for th	e following cont	ract kindly	execute the work			
-	ber the instruction given by our site incharge.						
167	B 1201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
168	B 1202 ELECTRICAL WORK INTERNAL					-	,,,
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
169	B 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
170	B 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
171	B 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	%
172	B 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	%
173	B 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
	WIRING WORK						
174	B 1202 ELECTRICAL WORK INTERNAL						
		1.00	NOC	2000.00	2000.00	•	0/
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
175	B 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
	WIRING WORK	1.00	NOS	1200.00	1200.00	0	/0
176	TOWER B 12TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	%
177	TOWER B 12TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	%
178	TOWER B 12TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	%
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
470	FOYER AREA)						
179							
	WORK LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	0/
<u>.</u>		10.00	1103	100.00	1000.00	0	%
Spc.							
	WIRING and FIXING.						

as f	per the instruction given by our site incharge.						
180	B 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
181	B 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	
182	B 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	
183	B 1301 ELECTRICAL WORK INTERNAL						
105							
	LABOR FOR LIGHT FITTING WORK (NOS)	1.00	NOS	100.00	100.00	0	
101		1.00		100,00	100.00	•	
184	B 1301 ELECTRICAL WORK INTERNAL						
		E 00	NOC	180.00	000.00	0	
	LABOUR FOR LIGHT POINT (NOS)	5.00	NOS	180.00	900.00	0	
185	B 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
186	B 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
	WIRING WORK						
187	B 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
188	B 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
	WIRING WORK						
189	B 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
	WIRING WORK						
190	B 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
191	B 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
	WIRING WORK						
192	B 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
193	B 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	5.00	NOS	180.00	900.00	0	
194	B 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	1.00	NOS	100.00	100.00	0	
195	B 1302 ELECTRICAL WORK INTERNAL			-		-	
175	ELECTRICAL WORK INTERNAL						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	
	LADOR FOR ANCHOR FASTNERS (NUS)	1.00	CON	100.00	100.00	0	

104							
196	B 1302 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	
97	B 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
198	TOWER B 13TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
199	TOWER B 13TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR STAIR AREA)						
200	2) LABOR FOR LIGHT POINT WIRING 12 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR FOYER AREA)						
200	TOWER B 13TH FLOOR COMMON ELECTRIC WORK LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	
201	· · · ·	0.00	1103	100.00	000.00		
201	TOWER B 13TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	
202	B 1401 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						_
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
203	WIRING WORK B 1401 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
204	B 1401 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						_
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
	WIRING WORK						
.05	B 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR LIGHT FITTING WORK (NOS)	1.00	NOS	100.00	100.00	0	
206	B 1401 ELECTRICAL WORK INTERNAL	1.00	1105	100.00	100.00	v	_
.00	ELECTRICAL WORK INTERNAL						
	LABOUR FOR LIGHT POINT (NOS)	5.00	NOS	180.00	900.00	0	
.07	B 1401 ELECTRICAL WORK INTERNAL						-
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	

	per the instruction given by our site incharge.						
208	B 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
pc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
09	B 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	
10	B 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	
11	B 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	
212	B 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	
213	B 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
214	B 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
215	B 1402 ELECTRICAL WORK INTERNAL						_
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	5.00	NOS	180.00	900.00	0	
216	B 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	1.00	NOS	100.00	100.00	0	
217	B 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	
	WIRING WORK						
218	B 1402 ELECTRICAL WORK INTERNAL						
		1 00	NOC	2000.00	2000.00	0	
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	
19	B 1402 ELECTRICAL WORK INTERNAL						
		1 00	NOS	1200.00	1200.00	0	
	LABOR FOR AC OUTDOOR & WATER HEATER WIRING WORK	1.00	NOS	1200.00	1200.00	0	
20							
	WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	
21	TOWER B 14TH FLOOR COMMON ELECTRIC						
21	TOWER B 14TH FLOOR COMMON ELECTRIC WORK						

	have pleasure in placing with you our Work order for th per the instruction given by our site incharge.	e rouowing cont	i act Kinūly	EXECUTE THE MOLK			
222	TOWER B 14TH FLOOR COMMON ELECTRIC						
LLL	WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	%
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
	FOYER AREA)						
223	TOWER B 14TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
22.4							
224	B 1501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	%
C		4.00	1103	100.00	400.00	U	/0
Spc.							
	WIRING and FIXING.						
225	B 1501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
226	B 1501 ELECTRICAL WORK INTERNAL						
220	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
227	B 1501 ELECTRICAL WORK INTERNAL						
,	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	2.00	NOS	100.00	200.00	0	%
228	B 1501 ELECTRICAL WORK INTERNAL						
220	ELECTRICAL WORK INTERNAL						
	LABOUR FOR LIGHT POINT (NOS)	6.00	NOS	180.00	1080.00	0	%
229	B 1501 ELECTRICAL WORK INTERNAL	0.00	1105	100100	1000.00		70
/	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	%
230			1105	100100	720.00		70
230	B 1501 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
	WIRING WORK	1.00	1105	1200.00	1200.00	•	70
231	B 1501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%
232	B 1501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
	WIRING WORK						
233	B 1502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
	WIRING WORK						
234	B 1502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%

	have pleasure in placing with you our Work order for th	e following cont	ract kindly	execute the work			
	er the instruction given by our site incharge.						
235	B 1502 ELECTRICAL WORK INTERNAL						
		4.00	NOC	4202.00	1200.00	•	0
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
236	WIRING WORK B 1502 ELECTRICAL WORK INTERNAL						
230	ELECTRICAL WORK INTERNAL						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	9
237		1.00	1105	100.00	720.00		
237	B 1502 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	6.00	NOS	180.00	1080.00	0	9
238		0.00	1105	100.00	1000.00	•	/
230	B 1502 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	2.00	NOS	100.00	200.00	0	9
220		2.00	1105	100.00	200.00	•	
239	B 1502 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	9
240		1.00	1105	100.00	100.00		
240	B 1502 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
2.44		1.00	NOS	180.00	180.00	0	/
241	B 1502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	9
6		4.00	NOS	100.00	400.00	0	/
Spc.							
	WIRING and FIXING.						
242	TOWER B 15TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	%
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
242	FOYER AREA)						
243	TOWER B 15TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	%
6		10.00	NOS	100.00	1000.00	0	/
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
244	TOWER B 15TH FLOOR COMMON ELECTRIC						
	WORK	(00	NOC	400.00	(00.00	•	0
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	%
245	TOWER B 15TH FLOOR COMMON ELECTRIC						
		(00	NOC	180.00	1090 00	~	0
.		6.00	NOS	180.00	1080.00	0	%
246	B 1601 ELECTRICAL WORK INTERNAL						
		,	100		1000	-	
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	9
747	WIRING WORK						
247	B 1601 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	0.
	LABOR FOR YOF WALL LARE & WIKING WORK	1.00	1103	2000.00	2000.00	U	%

	have pleasure in placing with you our Work order for th	e following cont	ract kindly	execute the work			
as p	er the instruction given by our site incharge.						
248	B 1601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
	WIRING WORK						
249	B 1601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	2.00	NOS	100.00	200.00	0	%
250	B 1601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	6.00	NOS	180.00	1080.00	0	%
251	B 1601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	%
252	B 1601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
253	B 1601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
254	B 1601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
255	B 1602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
256	B 1602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
257	B 1602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	%
Snc	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
spc.	WIRING and FIXING.						
258	B 1602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	%
259	B 1602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	6.00	NOS	180.00	1080.00	0	%
260	B 1602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	2.00	NOS	100.00	200.00	0	%
261	B 1602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	%
	WIRING WORK						
262	B 1602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%

We	have pleasure in placing with you our Work order for th	e following cont	ract kindly	v execute the work			
as p	per the instruction given by our site incharge.						
263	B 1602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
244	WIRING WORK						
264							
	WORK LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	%
2/5		0.00	NOS	180.00	1080.00	0	/0
265	TOWER B 16TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	%
244		0.00	1105	100.00	000.00	•	70
266	TOWER B 16TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA			-			
Spc.	WIRING and FIXING.						
2/7							
267							
	WORK LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	%
6		10.00	NOS	180.00	2880.00	0	/0
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
	FOYER AREA)						
268	B 1701 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
269	B 1701 ELECTRICAL WORK INTERNAL						
207	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
270	B 1701 ELECTRICAL WORK INTERNAL			-			
270							
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
271	B 1701 ELECTRICAL WORK INTERNAL						
27.	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	2.00	NOS	100.00	200.00	0	%
272	B 1701 ELECTRICAL WORK INTERNAL			-			
272	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	6.00	NOS	180.00	1080.00	0	%
273	B 1701 ELECTRICAL WORK INTERNAL						
275	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	%
274	B 1701 ELECTRICAL WORK INTERNAL						-
- , ,	ELECTRICAL WORK INTERNAL						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	%
	WIRING WORK					-	
275	B 1701 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	%

	have pleasure in placing with you our Work order for th	e following conti	act kindly	execute the work			
	er the instruction given by our site incharge.						
276	B 1701 ELECTRICAL WORK INTERNAL						
		(00			0500.00		
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	,
~ 	WIRING WORK						
277	B 1702 ELECTRICAL WORK INTERNAL						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	2500.00	2500.00	0	,
	WIRING WORK						
278							
		4.00	NOC	2000.00	2000.00	•	
	LABOR FOR VDP WALL ZARI & WIRING WORK	1.00	NOS	2000.00	2000.00	0	0
279	B 1702 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR AC OUTDOOR & WATER HEATER	1.00	NOS	1200.00	1200.00	0	
	WIRING WORK						
280	B 1702 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
281	B 1702 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	6.00	NOS	180.00	1080.00	0	
282	B 1702 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	2.00	NOS	100.00	200.00	0	
283	B 1702 ELECTRICAL WORK INTERNAL						
	ELECTRICAL WORK INTERNAL						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	
0.4		1.00			100.00		
284	B 1702 ELECTRICAL WORK INTERNAL						
		4 00	NOC	480.00	400.00	~	
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	
285	B 1702 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
286	TOWER B 17TH FLOOR COMMON ELECTRIC						
_00	WORK						
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	
		10.00	2011	100,00	2000.00	0	
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR						
	AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
	FOYER AREA)						
87	TOWER B 17TH FLOOR COMMON ELECTRIC						
	WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA						
	WIRING and FIXING.						
	TOWER B 17TH FLOOR COMMON ELECTRIC						
88	TOWER D T/TH FLOOR COMMON ELECTRIC						
.88	WORK						

	have pleasure in placing with you our Work order for the instruction given by our site incharge.	5					
289	TOWER B 17TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	2
290	B 1801 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	9
291	B 1801 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
292	B 1801 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
293	B 1801 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	9
294	B 1801 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	
295	B 1802 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	
296	B 1802 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	
297	B 1802 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
298	B 1802 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	
299	B 1802 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	
300	TOWER B 18TH FLOOR COMMON ELECTRIC WORK					_	
	LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	
301	TOWER B 18TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	16.00	NOS	100.00	1600.00	0	,
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						

302	TOWER B 18TH FLOOR COMMON ELECTRIC WORK	16.00	NOC	180.00	2880.00	0	0/
	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	%
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR STAIR AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12 NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
303	FOYER AREA) TOWER B 18TH FLOOR COMMON ELECTRIC WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	%
304	B 1901 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	NOS	100.00	400.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
305	B 1901 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
306	B 1901 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
307	B 1901 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	%
308	B 1901 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	%
309	B 1902 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR LIGHT POINT WIRING	4.00	NOS	180.00	720.00	0	%
310	B 1902 ELECTRICAL WORK INTERNAL	1.00	1105	100.00	720.00		70
510	ELECTRICAL INSTALLATION WORK LABOUR FOR LIGHT POINT (NOS)	4.00	NOS	180.00	720.00	0	%
311	B 1902 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR ANCHOR FASTNERS (NOS)	1.00	NOS	100.00	100.00	0	%
312	B 1902 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR FAN POINT (NOS)	1.00	NOS	180.00	180.00	0	%
313	B 1902 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK	4.00	NOS	100.00	400.00	0	0/
Spc	LABOR FOR LIGHT FITTING WORK (NOS)	4.00	2011	100.00	400.00	U	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						

	WORK						
6	LABOR FOR LIGHT POINT WIRING	16.00	NOS	180.00	2880.00	0	2
Spc.	1) LABOR FOR LIGHT POINT WIRING 4 NOS/						
	PER FLOOR (IN 1ST TO 19TH FLOOR STAIR AREA)						
	2) LABOR FOR LIGHT POINT WIRING 12						
	NOS/ PER FLOOR (IN 1ST TO 19TH FLOOR						
	FOYER AREA)						
315	TOWER B 19TH FLOOR COMMON ELECTRIC						
		16.00	NOS	100.00	1600.00	0	Q
5-0	LABOR FOR LIGHT FITTING WORK (NOS)	10.00	NUS	100.00	1600.00	0	%
Spc.	STAIRCASE LIGHT, BALCONY AND FOYER AREA WIRING and FIXING.						
316	TOWER B 19TH FLOOR COMMON ELECTRIC						
	WORK LABOR FOR LIGHT FITTING WORK (NOS)	6.00	NOS	100.00	600.00	0	%
317	TOWER B 19TH FLOOR COMMON ELECTRIC	0.00	1103	100.00	000.00	0	
517	WORK						
	LABOR FOR LIGHT POINT WIRING	6.00	NOS	180.00	1080.00	0	%
318	TOWER B PASSANGER LIFT WORK						
	LABOR FOR 4 x 6 SQMM WIRE (MTR)	80.00	RMT	40.00	3200.00	0	9
319	TOWER B PASSANGER LIFT WORK						
	LABOR FOR EARTHING STRIP (RMT)	270.00	RMT	60.00	16200.00	0	%
				Contract Amount (A)		400320.00	
				Total GST (B)		0.00	
				Total (A + B)		40032	0.0

Terms & Conditions

SAFETY TERMS

1) Work Compensation (WC) Policy is a must for every contractor.

2) Required all their laborers Aadhar card copy and Passport size Photo.

3) All PPES in Contractor Scope.

4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.

5) Every Quarterly they must submit a service report of their respective machines to the site incharge.

6) Contractor has to maintain enough lighting during night work at site.

7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms

* All responsibilities of goods during transportation and unloding at site by supplier and vendors.

* Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd. At project site officially.

* Biling amount should not exceed the rate and total value mentioned in this WO.

 * Failure to comply with specification, terms and conditions of this order or accepted delivery.

schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

For NEPTUNE REALTY PVT. LTD.

Authorized Signatory